COPYRIGHT RESERVED VKC(H-3)— Com (8)

2021

Time : 3 hours

Full Marks : 100

Pass Marks : 45

Candidates are required to give their answers in

their own words as far as practicable.
sl FeEva ST 2T 6 6 I F
The questions are of equal value.
Gt 597 & JIT R E |
Answer five questions, selecting two frém each

Group in which Q. No. 1 is corhpulsory.
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1. State whether the following statements are ‘True'

or ‘False’ :

YN -145/3 (Turnover)



sard o frafoRaa sum ‘o’ € o ‘awer’
(a) Statistical laws are always perfectly true. .
- wiferdia fam wig ‘{?fﬁ: T EAT |
(b) Statistical investigation may be for a special

purpose.
wiferhi argeeuH fiw 32 i gfif & forg
Lk I
(c) Primary dataare oAriginal data.
i THe M 8 ¢ |
(d) Sémple should be a smaill 'univelrse.
et @Y T g A R A
(@) Without dispersion, average are incomplete.
v 35 e e R
() The numberoftermsinA.P.4,7,10........... ,
148inn=49. -

FHTRE 3R 4, 7,10 oo . 148, & w2t
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(9) °Cg=5.
SCg %1 A BRI 5|

(h) Matrix is a representation where as

determinants has a value.
3TeE U Frequr R sefh wnfues @1 Hig 4
s |
: | _ dy
() Hy=(1=Jx)1+Jx) then - =-1.
qﬁ -_ dy .
y=(1-Jx)1+ Jx). & 5 =—1
() IfsetA={2,4,6, 8} then3eA.
Rk setA={2,4,6,8}, T3 A
Group —A
Qug - A
What is Arithmetic Progression ? To find the sum

of n terms of an Arithmetic Progression.
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3. IfMpg =20 x Np4, Find the value of n.

!Tf'?:"p5=26 x Npo 81 dt n Td A |

4. Outof60 students 35 play hockey, 20 play hockey
and cricket both, find the ﬁumber of students who

play cricket only.

60 B! § & 35 BT B Weld § ; 20 B gl qe
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5. Simpl_ify:
{x +\/7——1}6 +{x —x? —1}6
'{T{FTW :
e e feba )
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Define Statistics and discuss its characteristics.
grfegeh! &Y gfeman difse qun gt fswarett
T hif9U | ‘

Distinguish between a census and a sample

enquiry and discuss briefly their comprative

advantages.
IO ama@mﬁwmwaﬁ?ﬁ%‘ﬁ
3ok ETTCHe ST 1 AU hITIT, |

Calculate mean and median from the following

data :
e srferet @ wrea aen wfedent gra i :
Class Interval | Frequency
T ST rgfa

00-10 | 12

10-20 18
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Class Interval | Frequency

T e | emgha

20 - 30 27
30 - 40 20
- 40-50 17
50 — 60 | 06

.9 Find Standard Deviation from the following data :

e il & e R
| Class Interval | Frequency

i sre | e

0-8 | 5

8-16 30
16— 24 40

24 - 32 16

32-40 | 15
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10. From the following data, find the coefficiént of
correlation by Spearman’s Rank Difference
Method :

e orterel @ ferda <t e it farfs g weasry
ToTieh A HE ¢

x y
75 120
88 134
95 150
70 115
60 | 110
80 140
81 142
50 100
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